M

min. 1900 mm, max. 4000 mm

(1370)

/

(1839
|

650

815

1106806

B,

8210500
0456086

879

\ﬁA

0319420 0319410

/

0326050
-~
A?N

C\

/]

min. 3000 mm, max. 4000 mm

(2500)

650

0390466

NI

Item-nr. Description Nu(T\)ber Nu(rg)ber
0319410 |texas door, right part 1 2
0319420 |texas door, left part 1 2
0326050 |adjustable pivot M20 1 1
compos.universal locking point
0390466 95¢cm/76mm 1 1
late for T-clamp 48x60mm,
0413021 eavy version 4 4
0456086 g;qsaded strap M10/60x90mm 8 16
1106806 |stopper 80x60mm 2 2
7112080 |hexagon-head bolt M12x80 galv. 4 4
8210500 |self locking nylon nut M10 galv. 16 32
8212500 |self locking nylon nut M12 galv. 4 4
A Pasture gate frame single 1 -
B Pasture gate frame double - 1
Pasture gate
Number: 0319xx0-0
splncler ot |mm
Date: 16-6-2021

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




K]

7310040
8210500

7110035
8210500

0320612

detail A(1:10)

1106600

L =530 + 250 per rod

L =250 + 250 per rod

L = 250 per rod
X o | o9

oo
°

o
oo °

|
'_DL_DLEO‘} °°°]

page 1 of 2

Description Number

A tube 76mm 1

B square tube 60x60x4 1
0320612 |clamp plate for Topgate 2
0418025 |mounting clip 76mm 4
0418060 |mounting clip square 60x60mm 4
1106250 |stopper 76mm 2
1106600 |stopper 60mm square 2
7110035 |hexagon-head tap bolt M10x35 galv 12
7310040 |coach bolt M10x40 galv. 16
8210500 |self locking nylon nut M10 galv. 28

Topgate base, 4 rods - 100 cm wide

d Number: 0320600-0
s p I I l er Unit: mm
DAIRY HOUSING CONCEPTS Date: 8-1-2021

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.

No rights can be derived from this drawing.




page 2 of 2

(248) A 0320650 B 0466091
301 8210500
7108050
8308100
. 1107100
| o g
2
7110025
8310100
8210500
Item-nr. |Description Number
A tube 76mm 1
B square tube 60x60x4 1
- r S 0320616 |guidance frame rod Topgate 2
0320617 |stopper tube rod Topgate 1
0320650 |rod (25 cm) for Topgate complete 1
0466091 |threaded strap square M10/60x90 galv. 2
1107100 |rubber buffer 1
7108050 |hexagon-head bolt M8x50 galv. 1
7110025 |hexagon-head tap bolt M10x25 galv 2
8210500 |self locking nylon nut M10 galv. 6
8308100 |washer M8 (8x17x1,6) 1
8310100 |(washer M10 (10x21x2) 2
Topgate base, 4 rods - 100 cm wide
Number: 0320600-O0
spinder .
DAIRY HOUSING CONCEPTS Date: 8-1-2021
R P can bE Gerhied hor trs araming, - P cduced: shown or entrust o thid party or used othenise




M

0320600

detail D (1 : 10)

1106300

1031450

0418030

7110035
8210500

a
€

250
o
S
@
Item-nr. |Description Number
0320600 [Topgate base, 4 rods - 100 cm wide 1
0418030 |mounting clip 89mm 6
sup. post 89mmx250cm floor mounted
1031450 30x30 2
1106300 |stopper 3" 2
7110035 |hexagon-head tap bolt M10x35 galv 12
8210500 |self locking nylon nut M10 galv. 12
Assembly drawing Topgate
Number: 0320600-A
SPEAII der e
DAIRY HOUSING CONCEPTS Date: 1-6-2021

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




